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“APNIC should not charge per address fee for IPv6 allocations t
o NIRs until it is necessary.” because



1. Fairness

    NIRs/NIR members are obliged to pay per address fees for

    allocations received from APNIC, while APNIC direct members

    are not required to pay such fees.

2. Amount of Fee

    The current IPv6 per address fee scheme leads NIRs/NIR

    members to pay unexpectedly large amount of fees.

3. Deployment of IPv6

    Charging per address fee in IPv6 may hinder the deployment
of

    IPv6 in the region.

4. Situation in other RIRs

    Other RIRs do not charge IPv6 per address fee.



It is speculated that abolishing per address fee for IPv6 allocations will no
t affect APNIC’s budget.
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APNIC has been running its budget with hardly any revenues from
IPv6 per address fees, and this implies that the revenue portion fro
m IPv6 per address fee is minimal.



1. This proposal solves “unfairness” between NIRs and other APNIC

     members.

2. This proposal saves NIRs/NIR members from the burden of paying

    large amount fees beyond a reasonable level.

3. This proposal may prevent APNIC fee scheme being the barrier of IPv
6

    deployment in the AP region.

4. This proposal makes APNIC fee scheme consistent and simple.

Advantage

None

Disadvantage
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